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163001 |JIIBTH=RIR EE1 1,747 1220
163002 | JIIBFTHERIEX B2 776 540
163003 | JIIFTHERIRX EE3 774 540
163004 |JIIBTH=RIR EE4 1,132 790
163005 |JIIBTH=RIR EES5 704 490
163006 |JI[IETH=RIR EE6 1,086 760
163007 |JIIBTH=RIR 587 974 680
163008 |JIIBTH=RIR EES8 1,363 950
163009 |JIIETH=RIR EE9 832 580
163010 |JIliFHmEAIR| #ETZS 980 690
163011 JIIBHERIX| (THEFF 1,479 1040
163012 | JIIBTH=RIR INE1 1,466 1030
163013 |JIIETH=RIR INE2 1,864 1300
163014 |JIIBTH=RIR Bia1 1,936 1360
163015 | JIIIETH=EEIX B2 883 620
163016 | JIIIFTHERIRX Z83 1,248 870
163017 | JIIIBETHERIR =84 887 620
163018 | JIIIBFTHERIR AR 278 190
163019  |JIIBTHERTIX A2 591 410
163020 |JIIBETH=RIR THE1 1,331 930
163021 JIEH =X T152 1,412 990
163022 |JIIETH=RIR 1453 915 640
163023 |JIIETH=RIR T84 1,371 960
163024 |JIIBTH=RIR 1485 377 260
163025 |JIIETH=RIR 1156 794 560
163026 |JIIETH=RIR 1457 631 440
163027 | JIIIBETHER Il 11,673 8170
163028 )M ERIR| HEET 761 530
163029 |l ERIR| HEE2 1,263 880
163030 )i ERIR| HEES 937 660
163031 N T=EEX, ®EE4 1,133 790
163032 |l ERIR| HEES 1,643 1150
163033 | JIIIETHERIR B8 6,970 4880
163034 | JIIIETHERIR = 5 2,342 1640
163035 | JIIIETHHERIR = I 1 1,725 1210
163036  |JIIBTHERIX EiF2 2,051 1440
163037 )BT ERIX =IE3 1,670 1170
163038 | JIIIBETHERIR = i&4 368 260
163039 | JIIIETHERIR =IE5 833 580
163040 |JIIBTHERTIX =56 895 630
163041 BT EEIX| =EIFE 1,374 960
163042 |l ERIR| =RIF2 1,603 1120
163043 I ERIR| =ARIFS3 1,729 1210
163044 | JIIETHERIR Kk 1,227 860
163045 |JIIBTHERIX K2 3,439 2410
163046  |JIIBTHERIX K3 1,491 1040
163047 |JIIFHERIR| HATIFT 281 200
163048 |l ERIR| HATE2 334 230
163049 Il ERIR| #RE 673 470
163050 |JIIFHERIR| fHARZAHET1 700 490
163051 JIBF T EEIX | HARKE2 911 640
163052 )G ERIR| fHAKKHE3 463 320
163053 |JIIFTHERIR | fHARKE4 795 560
163054 )G ERIR| fHAKKHES 783 550
163055 |JIIFHERIR| BiE&1 478 330
163056 |JIIFHERIR| BAiE&2 394 280




163057 |JIIFHERIR| EETE 1,191 830
163058 | JIIETHE=ERTIR B4 640 450
163059 | JIIETHE=ERTIR BHE2 1,123 790
163060 | JIIETHE=ERIR B4ES 1,314 920
163061 JIGTH =X E44 584 410
163062 | JIIGTHE=ERIR B4ES 814 570
163063 | JIIETHE=ERIR E46 889 620
163064 | JIIGTHERTIR 1 1,171 820
163065 | JIIIETHERTIR F2 1,682 1180
163066 | JIIGTHERTIR E3 640 450
163067 | JIIIGTHERTIR F4 486 340
163068 | JIIGTHE=ERETIR E5 634 440
163069 | JIIETHE=ERTIR 6 625 440
163070 |JIIIFHERIR| FEEE 2,132 1490
163071 JIGH =X #11 900 630
163072 | JIIIGTHERTIR #1l2 1,234 860
163073 | JIIIGTHERTIR KR 1 11
163074 | JIIIGTHERTIR KiR2 261 180
163075 | JIIIGTHERIR 7KiR3 486 340
&t 95,587 66,380




